o TEE IERS

B - REMBIRR @n2e3nmm

T LE RLLE &) TR LE ) EE TCREE T
¥ i = + El 7 # [ T B v e
(SMTEELFE) Aot = s o = n Ao
7= " 4 B ® B 7 =
L i ) S ko v i i (o F L 7l
2| & &1 2| & SO - = - I -0 = - = - = - R I = 2| a2 |25 2|4F &l2| &
e 3 1 AELH
2 RERBIEREMRE () 36| 12 2RERBIERRINRE ()
2 PR TEREMRE (25D 3 2 PREHBTEREMRE (2R
b 5 s S 7 1 6 4 ZHRARA TRt
KA 7 —REHBS 4 4 4| 4 KA 7 —REHBSR
AiE 3 AiE
z1 1 1 1] 1] 1 1 9| 4 Z1
z2 1l 1 1lof1]1 z2
fER Y ERE z3 31 31 2 1 1l 1 Ul 4f1]1 fERyERE 23
z4 7 28| 11| 20| 6 17| 4 59 | 17| 47| 9 z4
z5 2l 2| 2 2 2l 1 120 3|1]1 Z5
z6 1 2l 2| 1f 1 1l 1 1 1|1 Z6
FiE 8| 3 RiE
awg| THmEE DD 3% 1l o THBEH DD 3%
O mETH+ i@ 22 79 23 4 41 316 BRIEL EIE
BREERME =& 1 0 BREERME =&
BB LRSS E BB LRSS
B = ke BRI L B = ke ERS BRI L
| T/RZA— b 1 | T/RZA— b
EARE T 0 HAR T
HRBERREHE 79| 66| 1| 1 1 26| 26 7 RBEREEEE
T — U BESHNEE T — 0 BEERENSE
fﬁg INEBBRS L — EEREET (1t t ) 15 NRBHRY L - EEREHE (1 LIS URE)
;,fg 7 L — B (5 t R BRIAE 5 5 31 31 6 7 L — B (5 t R6)HRIRE
gy | BRI RIKE 8| 8 EREREEE R SRR E
wy |74 -7V 7 PEERERE(L tUE) 24| 14| 14| 1| 1 1 12 | 12 74 =207 MEEREEBE(1 t UE)
74— 7 MERERIHE (1 t i) 74—2Y 7 MEEFHE(L t RH)
ERUREEHD OY EUREL tUL) 18 5| 5| 8 8 3 8| 8 FENRAHE (DY EFHEL t )




o TEE IERS

B - REMBIRR @n2e3nmm

TR TEE) FE | RE Eikl
- 7 # B + #l 1t 7 T = > 3
(SRTEELFE) s : S B : o -
A = T A * W W > % W 7 A 5
2| & zla|lz|la|l2|a|l2|la|2|a|l2|a|l2|a|2|a|l®|® alz|alz|a|2|a B R
PIR(ICT7 n74yry-REFE) 3k 12| 1 P& 3k
44k 5 44k
73y 2 FIREMRIRE 24 2 73y 3V FIREMIRE 2%
(BRBR) 3k 1 (BRBR) 3k
14 Y 1 3 14
24k 4 31 6| 3 2 1 4 24k
FTEEATIRE 3k 40 2| 1| 81 37| 78| 53 40 38| 32 28 | 32| 30 37 FTREAMIRE 34k
4R 39 80| 74 40| 25 40| 37 4%
1% 4 14%
TEEIRATRE 2% 11 1 1 31| 13 9 BRI E 2%
34 42 74| 33| 79| 37| 78| 15| 37| 1| 40 4 34 34k
HEPRRIRE 1019 3 HEFRRIRE
MR ERE 80| 6 3|19 4 MR ERE
ik C A DIRE MR C A DBRE
L&) TEREERE 34k L& > TEREERE 34k
41 41
TI77 4y 0 THARE 2% 757490 THAVIRE 28k
LR 4 2 1R
2% 4 3 24k
B C A DIRE 3%k 13| 13 EEC A DRE 3%
4 1% 717 4%
H7—A=FT 4 F—R— 3k 2 2 HF—A=F 4 F—2—
HRiREE 34k 16| 13 7 6 HfiREE 34k
- 3k #® £ 3k
REERE - 2% 1l 1 REERE B #® 2%
e 4 3k 10 6 2 2 e 4 3k
wrgsEsT 3k 2 wrgsEsT 31k
v—rymE 3k 3l 2 5 3 v—goasi 31k
BEAT 3k 8 6 BEAT 3k
p:d B 3k 4 4 pd BT 3%
SRERHENL 34k 8l 8 SRERHESL 34k
EFARERAEIRE 24k 3 3 EFARERAERE 24k
3% 34k
WREERE KEEMELETS 38 REERE LEEMELETS 38
v U — FRERIRE R 42| 16 172> o) — FRGIRE Wk
AV Y — bPRSRE PR 2l 0 AV oY — bPRSRE PR




